

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/16/2025 9:02:57 AM

			General De	etails					
Parcel ID:	141-0010-0014	0							
Document:	Abstract - 697277								
Document Date:	09/03/1997	09/03/1997							
		Leç	gal Description	on Details					
Plat Name:	HIBBING								
Section	Том	/nship	F	Range	Lot Block				
1	:	56 20				-	-		
Description:	SE1/4 OF SW1/4 EX WLY 330 FT OF ELY 780 FT AND EX WLY 490 FT OF ELY 1270 FT AND EX WLY 36 FT AND EX BEG 450 FT W OF SE COR OF FORTY THENCE N 315 FT THENCE S64DEG55'E 228 FT THENCE S38DEG50'W 280 FT THENCE DUE W 30 FT TO PT OF BEG								
			Taxpayer D	etails					
Faxpayer Name	MAKI JOE L &	TAMMY R							
and Address:	10817 FOSS RI	D							
	HIBBING MN 5	5746							
			Owner De	taile					
Owner Name	MAKI JOE L & ⁻	TAMMY R	Owner De	lans					
			able 2025 Tax	c Summarv					
	2025 - Net				\$2,609	00			
						\$2,698.00			
	2025 - Spec	ial Assessments			\$0.0	\$0.00			
2025 - Total Tax & Special Assessments \$2,698.00									
		Current	t Tax Due (as	s of 5/15/2025	5)				
Due May 1	5	1	Due Octol	ber 15		Total Due			
2025 - 1st Half Tax	\$1,349.00	2025 - 2r	nd Half Tax	\$1,34	9 00 2025	- 1st Half Tax Due	\$0.00		
			2025 - 2nd Half Tax						
	\$1,349.00	2025 - 2r	nd Half Tax Paid	\$1,34	9.00 2025	- 2nd Half Tax Due	\$0.00		
2025 - 1st Half Tax Paid				\$	0.00 2025	2025 - Total Due			
2025 - 1st Haif Tax Paid 2025 - 1st Haif Due	\$0.00	2025 - 2r	IU Hall Due						
	\$0.00	2025 - 2r		haile					
2025 - 1st Half Due	·		Parcel Det	tails					
2025 - 1st Half Due Property Address:	10817 FOSS RI		Parcel Det	tails					
2025 - 1st Half Due Property Address: School District:	·		Parcel Det	tails					
2025 - 1st Half Due Property Address: School District: Fax Increment District:	10817 FOSS RI 701	D, HIBBING M	Parcel Det	tails					
	10817 FOSS RI 701 - MAKI, JOE LEE	D, HIBBING M	Parcel Det		2026)				
2025 - 1st Half Due Property Address: School District: Fax Increment District: Property/Homesteader: Class Code Hom	10817 FOSS RI 701 - MAKI, JOE LEE	D, HIBBING M	Parcel Det	tails 125 Payable 2 Total EMV	2026) Def Land EMV	Def Bldg EMV	Net Tax Capacity		
2025 - 1st Half Due Property Address: School District: Fax Increment District: Property/Homesteader: Class Code Hom	10817 FOSS RI 701 - MAKI, JOE LEE nestead atus	D, HIBBING M E & TAMMY R Assessmel Land	Parcel Det	125 Payable 2 Total	Def Land				



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



				Land De	etails						
Deed	ed Acres:	13.21									
Wate	rfront:	-									
Wate	r Front Feet:	0.00									
Wate	r Code & Desc:	W - DRILLED WEI	_L								
Gas	Code & Desc:	-									
Sewe	er Code & Desc:	S - ON-SITE SANI	TARY SYST	EM							
Lot V	Vidth:	0.00									
Lot D	epth:	0.00									
The o	limensions shown are not all a shown are not a	ot guaranteed to be su	rvey quality. /	Additional lot	information can be	e found at ions, please email PropertyTa	ax@stlouiscountvmn.gov.				
mapo	,, appolotiouocountymin.	gen neer latername, m			etails (HOUSE		ax e choaleccentry minger.				
Ir	nprovement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
	HOUSE	1966	78	0	975	U Quality / 0 Ft ²	1S+ - 1+ STORY				
Γ	Segment	Story	Width	Length	Area	Foundati					
	BAS	1.2	26	30	780	BASEME	-				
	CN	1	6	7	42	BASEME					
	DK	1	4	, 13	52	CANTILE					
	DK	1	6	8	48	POST ON GR					
	DK	1	12	26	312	POST ON GR					
L	Bath Count					Fireplace Count	HVAC				
						Fileplace Count	CENTRAL, WOOD				
Improvement 2 Details (GARAGE) Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc.											
GARAGE 1979			720 720			Dasement Finish	DETACHED				
Г			Width	-	Area	- Foundati					
	Segment BAS	Story 1	24	Length	720		-				
	_	-		30	-	FLOATING					
	LT	1	6	12	72	POST ON GR					
	LT	1	12 24 288			POST ON GROUND					
			-		etails (BARN)						
	nprovement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
Г	POLE BUILDING	0	40	0	400	-	-				
	Segment	Story	Width	Length	Area	Foundati					
	BAS	1	10	40	400	POST ON GR	ROUND				
	Improvement 4 Details (METAL CPT)										
Ir	nprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
	CAR PORT	0	24	0	240	-	-				
	Segment Story		Width Length		Area	Foundati	ion				
	BAS 1		12	12 20 240		POST ON GROUND					
Improvement 5 Details (METAL CPT)											
Ir	nprovement Type	Year Built	Main Floor Ft ² Gross Area			Ft ² Basement Finish Style Code & Des					
	CAR PORT	0	360		360	-	-				
ſ	Segment	Story	Width	Length	Area	Foundati	ion				
	BAS	1	18	20	360	POST ON GR	ROUND				
2.10											





St. Louis County, Minnesota

		Improver	nent 6 Det	tails (C	ontainer)					
Improvement Type Year Built		Main Flo	-		rea Ft ² Ba	ement Finish		Style Code & Desc.		
STORAGE BUILDIN	NG 0	25	256		256				-	
Segme	nt Stor	y Width	Length	Length Area		Foundation				
BAS	0	8	32		256	POST ON (POST ON GROUND			
		Improver	nent 7 Det	ails (In	pasture)					
Improvement Typ	e Year Built	Main Flo	Main Floor Ft ² Gross Area Ft ²			Basement Finish Style Code & Des				
MULTIPLE STOREAGE BUILDINGS	0	22	4	22	4	-			-	
Segme	nt Stor	y Width	Length	A	Area	Found		ation		
BAS	0	6	8		48	POST ON GROUND				
BAS	0	8	10		80	POST ON GRO		UND		
BAS	0	8	12		96	POST ON GROUN				
	:	Sales Reported	to the St.	Louis	County Audit	or				
Sa		Purchase Price			CRV Number					
07		\$60,000				118610				
		A	ssessmen	t Histo	ry					
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bld EM		Total EMV	Def Land EMV	B	ldg MV	Net Tax Capacity	
	201	\$39,000	\$181,	500	\$220,500	\$0	9	60	-	
2024 Payable 2025	Total	\$39,000	\$181,	500	\$220,500	\$0	\$	60	1,938.00	
	201	\$40,900	\$168,	100	\$209,000	\$0	9	60	-	
2023 Payable 2024	Total	\$40,900	\$168,	100	\$209,000	\$0	4	60	1,906.00	
	201	\$34,400	\$119,	700	\$154,100	\$0	9	60	-	
2022 Payable 2023	Total	\$34,400	\$119,	700	\$154,100	\$0	4	60	1,307.00	
2021 Payable 2022	201	\$31,600	\$101,	700	\$133,300	\$0	9	60	-	
	Total	\$31,600	\$101,	700	\$133,300	\$0	4	60	1,081.00	
		' ר	Fax Detail	History	/				1	
Tax Year	Тах	Special Assessments	Total Ta Specia Assessm	al	Taxable Land M	Taxable Bui V MV	ilding	Total	Taxable MV	
2024	\$2,648.00	\$0.00	\$2,648	.00	\$37,293	\$153,27	7	\$190,570		
2023	\$2,060.00	\$0.00	\$2,060	.00	\$29,183	\$101,54	16	\$	\$130,729	
2022	\$1,724.00	\$0.00	\$1,724	.00	\$25,616	\$82,44	\$82,441		\$108,057	



PROPERTY DETAILS REPORT





Date of Report: 5/16/2025 9:02:57 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.